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1.
a:A l: List(A)
[| : List(A) (LI1) cons(a,l) : List(A) (L12)
a:A x:List(A) y:Clx/z]
t: List(A) b:C[]/] ¢ : Clcons(a, z)/2]
Irec(t,b, \a — Az — Ay — ¢) : C[t/z] (LE).
Irec(l], f.9) = f
Irec(cons(a, 1), f,g) = g(a)(l)(Irec(l, f, 9))

2.

a:A n:N l: List(A,n)

T List(A0) PV cons(a.n. ) List(A.sm)) L2
a:A n:N x:List(An) y:Cn/w,z/z
miN t: List(A,m) b:Cl0/w,[/2] ¢ 1 C[S(n) /w, cons(a, n, z) /7]
Irec(t,b,A\a — An — Az — Ay — ¢) : Clm/w,t/z] (LE).
Irec(l], f,9) = f
Irec(cons(a, n,l), f,g) = g(a)(n)()(Irec(l, f,g))
3.
n:N p: Odd(n)
odd1 - Odds o)) 4y oddss(n.p) - 0dds S (C%1?)
n:N z:0dd(n) y:Cln/w,x/z]
m:N p:0dd(m) b:C[S(0)/w,oddl/z] c: C[S(S(n))/w,oddss(n,x)/z] (OddE)

orec(m, p,b,A\n — Az — Ay — ¢) : Clm/w,p/z]

orec(oddl, f,g) = f
orec(oddss(m, p), f,g) = g(m)(p)(orec(p, f,g))
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4. Az — Ay — oddss(z,y)) : (IIn : N)((IIp : Odd(n))Odd(S(S(n)))



